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Solve the following questions :

The histogram shows information
about the ages of people attending
a football match. Frequency

density
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The table below shows the ticket prices for the football match.

Child Adult Senior
(18 years or under) (60 years or over)
£20 £35 £25

Work out how much money the football club received for ticket
sales for this match.

The histogram shows information

about the weekly pay of 600 4
workers at a company.

One of the employees makes the 3
following claim: “60% of the sy

2
workers at the company earn less

than the mean weekly pay” By
working out an estimate for the

-

mean, show that the employee 0 i msmdnistina
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